ww oz L oLL oolL o6 o8 oL (e)=] oS ot
ez 019 -4 Z| € | 28y | LTV | 6
€/ S19-a L] € [ g0 [vse | g1
€/l 609 - d ¢l € | 2zv | 88sT| 21
e/l ¥IT -4 T]9T | ovs | 162 | 91
€z 800 - d T| 9T | 28v | v6¢C Gl
I £00 -a T|ot | zsy | vez | ¥i
€/ €IS -d T]9T [ ooz [eov | €1
€/ Z1Ss -da T| 9T [ ooz | cov | 2l
A 115 -d ¢| 91 | ooz | €ov Ll
e/l 0TS - a ¢ | 9T | ooc | o0S 0l
e/l 60S -d ¢| 9t | ooz | oos 6
€/l 90¢€ - d T|9T [ ovs | 9€6 )
e/l S0€ -a T| 9T | oS | 9c6 Jl
€/l 80 - d T| 9T [ 06s | oz6 9
e/l L0Z -a T[] 9T [ oes | oz6 G
€/ 900 -4 T]oT [zey [ ossT| v
(34 900 - d T| 9T | z8v | 9451 €
€/l €11-a |T[ 9T | oss [sz81| ¢
el zit-a |1] 91| oss [ser|
abexoed 2po)d suoisuawiqg u_mmﬂw_m_

wwolel

& %
Ovzvv

og oc

Q
D

& Xy

T T T O U T FECE VTR FPYYIET AT FRSFASSTINEOT AVUCCIN

oL (o]

6119
%m & o

vv_mwwwwo
L .

Logu % 051 B
0/ X¢ m X = X09
QM.H e 0bd wuone G2 wuonse
X8 B xz1
BN | _
QM&,M\SQN X} \XN
E. wu OXgd ) ww gexzd
b ez G g
pzd wwon NE - ‘o pd e
Gy | gy, | O vy
9Ll e | B0 wug X 19 Zs 910
= Mvﬁru (2= [sarcwee]
ool el T

Scaceleys

VNId

|enuew uone|eisu|















